Ilepeuenv demanneii u y3108
Cmenoa « asopumy

/703UL4UFI Ob603HavYeHUe u HaumMeHogsaHue
1 /[114.9.000 Cb Yka3amerb
2 [114-11.22.007-2T Ynop
3 /[114.0.011 ®uxkcamop
4,32 [NodwunHuUK ponukosbiti KoHu4deckul 2007114
5 [114.2.224 [latiba
6 [114.2.225 [lalika
7 /[114-11.22.006 Yrop
8 Eornm M12x50
9 Bornm M12x70
10 [114.2.1026 Ban
11 /[114.0.001-07 Bcmaeka 2/yunuHdpa
12 /[114.0.001 Ynop 1
13 /[114.0.003 Yriop 3
14 [1174.0.004 Ynop 4
15 /[114.0.001-08 Bcmaeka 2/uyunuHdopa
16 /[114.0.001-09 Bcmaeka 2/uyunuHdpa
17 /[114.0.008 Ynop 2
18 /[114.0.001-03 Bcmaeka 2/uyunuHdopa
19 /[114.0.001-02 Bcmaeka 2/uyunuHdpa
20 /[114.0.001-01 Bcmaeka 2/uyunuHdpa
21 /[114.0.009 Yrop 5
22 /[114.12.000 C6 KpoHwmelH MobusnbHbIl
23 [1l14.5.003E Tlatika
24 /[174.0.010 Komnnekm uyeHmpyrowjux watb
25 BurHm M8x25
26 BurHm M12x35
27 [1I14.5.001A lNnaHwadtba
28 Eonm M6x20
29 ll/atiba 6-65I"
30 ll/atiba A6
31 [I14.2.223 Kpbiwka
33 Pyuka-gpbukcamop HY 8313-22A M12x65x50
34 [I14.4.000E C6 CmpybuyuHa
35 Pykae NXB 1 p8x14 I (L=650 mm)
36,45 Eonm monnuexskit 3/8"-30

37,42,44 |lllatiba meOHasi d=17x0,9
38 ®umuHe BANJO 3/8" 5/16
39 [174.6.506 ®ymopka
40 llJatiba medHas d=21x1,0
41 Pacnpedenumens P40 1A1A1 Z
43 Pykae B[] 1SN d=5/16 L=650 BANJO 3/8 BANJO M14
46 /[174.8.000 C6 Kobypa
47 [/74.0.101-01A Kpbiwka
48 ll/atba A6, watiba 6-65I
49 Eonm M5x16
50 /[114.18.007 Kpbiuwika




Ilepeuenv demanneii u y3108
Cmenoa « asopumy

51 Konbyo 060-065-30 OCT 9833-73

52 Konbyo 054-062-46 OCT 9833-73

53 Konbyo 035-041-36 [OCT 9833-73

54 [l14.3.104B LLImok

55 Konbyo 012-016-19 TOCT 9833-73

56 /[114.18.009 [lMopweHb

57 latika M12

58 /[114.18.100 CE6 Kopnyc

59 /[114.0.013E Koepuk

60 3amok meberibHO-No4Ymosnil

61 /[114.1.750E Cb [eepua

62 [14.1.710E C6 OcHosaHue

63 /[114.6.300E ba4ok audpocucmembi

64 Pykas NXB 1 ¢p8x14 1 (L=300 mm)

65 Xomym 5/8" - p10-16

66 Camopes 4,2x19 ¢ npeccwaubol

67,73 Bonm monnuenbiti M14x1,5-30

68 Latiba medHas 14x22x3

69 l'uépoHacoc 1A01LPO1G M14x1,5

70 Bornm M8x20

71 ®umuHa BANJO M14 5/16

72 Llatiba medHas d=14x0,8

74 Bornm M6x25

75 Anekmpodsuecamerns AUPE 71A4 220B, 0,75 kBm, 1500 o6/muH

76 [1l14.0.015E [NaHenb omceka

77 [I14.6.102T Myghma Hacoca

78 Bornm M8x30

79 [114.6.105T KpoHwmelH

80 /[114.6.103 KpecmosuHa

81 [l14.6.104 Mygpma dsucamerns

82 [1l14.6.101T OcHosaHue

83 latka M6, watiba 6-65I"

84 latka M8, watiba 8-65-I"

85 latka M6, watiba 6-65I"

86 /[114.6.400 C6 Amopmu3samop

87 latika M6, watibbl A6, 6-65"

88 Pykae BL] 1SN d=5/16 L=1450 BSP(LLI) 3/8 DKL(I') M16x1,5

IIpumeuanue: boamwvl no I'OCT 7805-70
Bunumwt no 'OCT 11738-72
Tatiku no I'OCT 5927-70
Llaiiovr nnockue no F'OCT 11371-68
Llatibovr npysicunnvie no I'OCT 6402-70



